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1.7he extra crergy required to move an interstitias aton Sotwsen tee
niker atoms & found to be I.0ev,. If cne atom vl of IDEU ZhOrs il
metal bus this wuch acditionz® encrgy &l 0%, what fraction uf the
stams wit] navs 1.0ev additionzl cnergy at LIOGTY. {ZAjZJ

dint: levs1.0 = 10'12 wia, Soltzmann's constant K-1.38 = 10 -16

erg/atom k]

2. &n dintrinsic Semiconductor has a resistivity of 1.20 cha.cm at 207

=ne 1.08 ohm.co at T80, Estimste the wvalue ¢f the ensroy gap. [Assume

negligible changs in robility over this small temgerature rangn}(}ﬂZJ_

% ronsider the polymorphic transformation A=E. Tho interface energy

fr I

al

Latween & and 5 is 200 crg5gbm? and toe waluzs of the change in fres
energy Fer unit volume OFv for 4 = g wre -100 ca]fcn al 10007 and

500 Calsen? at aco’C (ical/em’= 4.185 x 107 ergs; iy (el )

{a) Determine the crdtical nucleus radius for the nuclealion af B within

4 At eacn tawperstioe

(b) Calculztle the enevgy that mist be supplisd for reaction lc procaed

in each cassa.

4. For a pb-30% Sn slloy, doternine the o ——
nhase pressni, their amounls
S p s A [
andeompasitisns at 3007, 207, F”? {:“xlqmn
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5. Yo would like ¢ procuce an cutectoid
stec] that has a maciqum yizle strength S PR T
of 1CG,000 psi with o maximm nardncss N\\\
af Redd. dhat tesparing temperature i
would you rocommend? 5'”“Mr g
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